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Section : General intelligence and reasoning Ability1

Q.1 frafefRe sjae # g ue 71d &Y
zz_zy__z2Z_2
ans < 1. zyyy Join Telegram Group
¢2.zzzy
x 3.zzyy
X 4yyyz

Question ID : 9767558727

Q.2 A% ATaT & HTE Y ATAT & Fheld GTATE & o Y geit HY I T geReAtar Wi gHH F & da
2?

Ans }( 1. E&1/AHT
X 2. 3R/ wen / a5 / S

o 3.foar
X 4.8

Question ID : 9767558736

Q.3 feq Ty areel hl S sh & HafeAd 6 5T s & 9 sgaRia A A &1

1. PADDLER
2. PACKING
3. PACIFIC

4. PACKAGE
5. PACKETS

Ans X' 1.3,5,4,1,2
o 2.3,4521
25 3.4,2,53,1
X 4.4,52,3,1

Question ID : 9767558728



https://t.me/haryana_jobs_in

Q.4 f=faf@ad @ fora e & ereg rm A ot e @ <t e A2 R 1g e g F f=a @i

MF :PC ::?
Ans X" 1 MH:PL

75 2.PF:RD
o 3.17:00
75 4.KS:PT

Question ID : 9767558729

Q.5 af¥BUN =18, MICE = 32 &, &t DEMON & forq @it &/am 27

Ans  of 1 50
< 2.30
X 3.25
/< 4.35

Question ID : 9767558732

Q.6 3Mrenter, faftar, de=, g1, Tandr 3R wifawT v 2R d @2 &1 farhar, ser siRdgad fad @1
STeRT2A, YehdT 3R =igT & = A @1 wifamT 281 & 1S 3R @1 St 3R wifawT & fia d &=
2

Ans X‘]a’a:[
75 2. Refrar
75 3.z
o 4 gEa

Question ID : 9767558738

Q.7 39 fahed &1 T &R ot AR ug & St HepR @ H&fda @ fore v 9 g ug vget ve @
Tefda gl

w5 T ?
s X 1
W 2 <k
/X 3. 9t
X 4R

Question ID : 9767558730

Q.8 f=fafRa sigen & g ug F1a &

3K12, 5020, 7528,
Ans X' 1.9v36

75 2.8v32
/X 3.8W32
o 2.9w36

, 11A44

Question ID : 9767558726




Q.9 afX PEACE @ MHXFB & %u & shifea faar mar &, @t TOWER & fag ss & @2
Ans X" 1.sUvJQ

/X 2.PQRIM

/5 3.RTUP

o 4. QrRTHO

Question ID : 9767558734

Q.10 fr=ferf@ sier sjaen &t g1 &%

GI, LN, QS, VX, 1

Ans 5" 1.7B
/X 2.BD
W 3.AC
75 4.CE

Question ID : 9767558725

Q.11 Tf 2x - 8 > 4y - 2 §, <t Fa=fofE@a d @ &= ot g aa 82
Ans X" 1.x-2y>6

“2.x-2y>3

< 3.2y-x<3

X4.x-2y<3

Question ID : 9767558742

Q.12 uak faffa s v &,
mo co fo T 3rf & Ram is smart,
fo zo jo @1 31 & Shyam is late,
mo lo zo T 3rf @ Ram and Shyam,
'smart’ & forg iz T 87

Ans X120
Xz.mo
XB.fo
W 2.co

Question ID : 9767558735

Q.13 39 faered o1 Ig+1 &3 Wit TR ug § I uehR & Haifda @ fore uehR @ govT ug uget ue &
Hafad gl

16:288::23:?
Ans X' 1.506

/X 2.483
o 3.575
/X 4.552

Question ID : 9767558744




Q.14 us &, ust wy= fear man €, fSads a1g & &y, | iR 1 fEw g &1 emueh 39 Y=l &t 9
ATHAT §, ¥t g Ug ATAT=ad: A1d a2 @ f94= udia gl 1 smuent ag fAofa o= g fok g = d
@ T, aft F1E @), @ ust FuT w1 IR IA S Rrgwafa @i

U Y AT, HAr 3R feRenR i sita sma 45,000 Fuw @1 <= i e o &7

FHu 1: o=, Hiar @ S s 21
FHY 2: =1 3R feran? war & afA wara &1

Ans X 1. dae sy | gafe @
W 2. Tafe R & R | ofR 11 S+t it e e S g
/< 3. Faet By Il gaf &
X 4A18RAE N vafa g

Question ID : 9767558739

Q.15 af¥ TASTE = 30, LAME = 20 &, &t FIGURE & forg @is & @2
Ans X124

v 242

/5 3.36

75 4.48

Question ID : 9767558733

Q.16 u d & sy fag o &, fSraah arg &) farsendf | 3R 11 fEw Qg &1 emuert 39 Y=l &l 9T ATAAT 8,
¥ & gg GrATaE: T1d a2 @ 9= udta 811 snmueRt ag fAofa - @ o Ry e fAsepwf d @ &=
a1, afy #td g, at g g syt & @ rgaror e 21

HYF 1: 94 TR RS &
FYF 2: O TR AR B

forser |: e aReget Sisfik &
oy 11: Y aiofiz avaet & @1

Ans X" 1. e froen || SEROT AT
£< 2.1 3R 1 &+ SrgERT S &
#5371 MR T & I SFTERT T &
(4.éﬁaﬁwﬁlﬁwaﬂm%

Question ID : 9767558740

Q.17 39 e o1 Fg+1 i3 St R U @ I} uehiR & Haifda @ fory uehR @ govT ug uget ue @
wafda gl

MPZ : GJT =:HNU:?
Ans X' 1.CDE

o 2.BHO
/X 3.0JQ
X 4.AIM

Question ID : 9767558731




Q.18 af¥ 29@12 = 34, 57@38 = 38, 45@29 = 32 &, A 67 @ 49 =?
Ans x 1.9

W 236

/X 318

X 4.52

Question ID : 9767558743

Q.19 usr d, gk sy far mar g, foradh arg aréans & <t s | 3R 11 few e &1 emuer) 39 sy &t
A ATFAT &, ¥ &) ag Qrar=ue: A1d a2 9 {34 uedid 811 simuept ag faofa d=r & fak e g
h1ars & hH | @ Y 1, afe A @), at fag g Fu= w1 SIgERT e g1

FHYUT: AR & &5 A A 9t He=Ar A | A Hifds-19 1 fFeragsn 1

RIS T ShH:

I: &5 A & @il a1 aTueh TRteTuT e & forg 2rgR & FRuTforanT Sif YRSt Rt ARt hew IS
anfgal

11: &3 & il <Rt hifars -19 @ s=F & forg ermasaes ggfomredt sew a1 &t werg & st
a1fgql

Ans X" 1. e | SIERYT AT R
X 2.7 1 3R A & I e R @

75 3. Sharet | SIERT AT B
W 2.1 3R 11 & srpERe AR B

Question ID : 9767558741

Q.20 fa=feif@a o aifehes ovm A aaaf¥a &::

Ans  of 123541
75 21,4352
/X 3.534,1,2
75 4.4,51,32

Question ID : 9767558737

Section : General intelligence and reasoning Ability2

Q.1 39 faehea o1 g &< ol GEd ofd @ I vwR @ 6l g fSrw uer @ g ofa uget sfa @
Hafda gl

Ans J1.
< 2
X 3
F

Question ID : 9767558758




Q.2 fag g = o A gl & T g2rfdt v @ fog e gde d ore, gRorge oik e fas 81
g a1l 7 @ faraat & i e g2

Ans X" 1 41
W 262
/X 3.56
/< 4.35

Question ID : 9767558749

Q.3 Prefafa 3 & w ar R siae 3§ e smghy &2
Ans X1 A

5 2.8

X 3.c

W 4D

Question ID : 9767558760

Q.4 g wQ 3w s A I Bl HY deAr Fi g2afar @ g it AforE, syire ik sfagra 7 S<divf g d
T @ fore o1 Fae e fawg 7 <itof g &2

Ans X128
o 2.45
/5 3.30
K 427

Question ID : 9767558752

Q.5 frfefRe ST sfaen & @ @1 &Y
98, 99, 108, 133, 182, 1

Ans  of 1 263
X 2.225
7< 3.252
/X 4.228

Question ID : 9767558745

Q.6 Prafofead & wia ot Ior ey Her T Y sEe Y T et 22
Ans X-L

v 2

~< 3

F

Question ID : 9767558757




Q.7 fafem SR &Y iR 0.2 km =eren 81 foRr ag 31€ ok gzt & iR 0.3 km =wrar g1 R ag &€ oi?
e @ 3R 0.35 km Tt &1 fo ag o ofiz Jgar @ 8iiR 0.15 km T<tan &1 fRARRIR ag and
3R ggar & 3 0.15 km =t &1 1o urifer AT & oy A 314 ag wel @1 87

Ans X" 1,030 kmgd
75 2.0.45 km ufgm
75 3.0.30 km ufgm
o 2045k

Question ID : 9767558755

Q.8 fr=fefEa dfeaw & o siicher ATd &+l
Ans X' 1.35

75 2,101

o 3.77

X 4.9

Question ID : 9767558759

Q.9 Uk 34X TH ek g} folg & e = & &1 UIRd 80 m IR Y 3R Terem &, fohr uffyw v iz
e ¢ 31 60 m T &, fohe Iudh a1 ok J=ar & sfik 40 m =«rar 81 w17 40 m uff#= 6 oz
Tt g, foRv I Y iR e @ 3R 120 m Teren &, foRr &1 oiik [ear & ofik 90 m =eran g1 o
URY & 94 & 291H hal 87

Ans X" 1110 m ufgm
W 2110mgE

/X 3.120mud
75 4.120 m ufgm

Question ID : 9767558756

Q.10 af ger gdor R} Ra1 MN R 3@T 74T 8, &t = It 3w smepfar &1 € smepfar et T ador ufafeer
2

Ans x1_
X2
v &)
F

Question ID : 9767558761

Q.11 = fag g gefienzor &l T 19 & forg fope €t Tl ol IR g anfgg?
672+ 7 %8+ 38 -29 =597

Ans X' 18,38
278
/X 3.7,38
75 4.38,29

Question ID : 9767558747




Q.12 af e s ot 3/5 & fanfSia farar s ar S5k st 3/5 & 1o forar mam o, &t Jfe
yfeRra =am 72

Ans X" 148 ufaR@
o 2 64 ufem
/X 3.56 ufds@
75 4,72 uRde@

Question ID : 9767558748

Q.13 &y &fayor Y 3R 250m Terar &1 foRR ag a1 37 gt 3k 200 m Tw 1 ag foRe ard ok q=r Sk
250m =T 3% fohr &€ ofiR 2T Sl 150 m =@ 31U gwaiTe feig & Hay # ag el gl @sT
2

Ans X" 1.450 m ufgm
/X 2.450 mgd
/< 3.350 muf@m

o 4.350mod

Question ID : 9767558754

Q.14 feafaf@a usr &, g @ urd i =R fR&fei & 1 &1 5 T=ar a1 were & TE a1 Bl )
@Y Y Gt ghfi?

Ans X 16
K 2.7
W 3s
X 409

Question ID : 9767558763

Q.15 Frfaf@a & @ @t a1 39 s ufas, FR o STeTSt & fi= & Heu F qad 3resT aaufdr 8?

Ans X1.

Question ID : 9767558750

Q.16 fam=fof@e dwar sjaer d wed ug A1 &3
128, 130, 134, 142, 156, 190

Ans X" 1190
X 2.134
o 3.156
75 4.142

Question ID : 9767558746




Q.17 PreafofRa § & w dt TR SRy et ot st oty AT & Forg wieger e T e 27
Ans x 1.

< 2

Vs

F

Question ID : 9767558762

Q.18 fr=farf@a smepfer &, Bryet sififéra o afaf~fde ewar @, i S @ afaffde w=ar @,
<1 g& Y o1 UfafAfda ohear 81 i ar e sifxféra fFrafSa ar ufafafde swar & it afger &2

Ans X' 1.C
K 2F
X 3E
¥ gNc

Question ID : 9767558751

Q.19 & 7 st srepfer & Ayt i sifderaw dwem a1 82
Ans X117

K5 2.20

312

K 415

Question ID : 9767558764

Q.20 3mefty Zfayor &t 3k 2 km T Y= 7T 8, ard R 3T @ 3R 2 km T 31 e ag AR @
a1é 3R qgar g 3R 2 km aetan g1 fafef@a & 9 fora faam o sae gz @2

Ans X‘].q'f%'q
X 2w
o 3.5
/X 4. cf@orugm

Question ID : 9767558753

Section : General Awareness1

Q.1 =g fafYy g1 adta sma i Mo R wHg Fe=fef@a d @ fra gees wR s ad fear srar
&?

Ans X1 fRvam
X 2. T @
o 3. R ok wigE B wdie
75 4. o Iusi

Question ID : 9767558773




Q.2 anfdes wdaror 2020-21 & AR, fasfta adf 2020-2021 # siza Y arwafaeas GDP gy
_______ & Irgeif e g 1 SIgETa 81
Ans X" 1.9 gfavE

o 2.7.7 vfrm
X 311 vl
75 4.45vfR=E

Question ID : 9767558772

Q.3 Foygend fFrEfafla d @ fra awg 6 aaf=m 9t& &2
Ans X 1. sifes

W 2 merg

/X 3. dffrer g

/X 4. ufm e

Question ID : 9767558782

Q.4 ¥ wd A & fFrafaf@a = wul 4 @ e "waa g & wu d off st sar 82
Ans  of 1

X 2. i
7X 3. azareht
p R

Question ID : 9767558766

Q.5 FERIEERE F aewl &t dHdR R fAfaf@a d @ @)= 9 dare g sar 8?
Ans X 1 e

X 2 e

K 3w

W 4w

Question ID : 9767558776

Q.6 ol <hY S| gerTS AT 22
Ans X 1w

X 2.7

X 3. gER

W 4

Question ID : 9767558774




Q.7 fr=faflad | fra 71 &t 'SeR Aer & 719 9 off s st 82
Ans x-“gm;

75 2. dmEe

75 3.l

o 4w

Question ID : 9767558780

Q.8 &gl g fAfdfa w28 qwrg, Frafaf@a 9 @ fra asa 4 fRa @?
Ans (1_;@;@

/X 2. sifen

7 3. e

75 4. Rt

Question ID : 9767558765

Q.9 famfofRa 35t 4 @ Fi g5 @ Haifda @?
Ans X1 tied Az

75 2.

V 3

X 4. o

Question ID : 9767558784

Q.10 Qeh AT ZIRT Sregerdn Y ST areft Wk a TP it o1 ugenn aifdae= ____ -]
mafara farar war i

Ans X' 1.1888
X 2.1929
75 3.1920
of 41917

Question ID : 9767558783

Q.11 Frafaf@a & @ &= ar dtes @ifta mter & Mem hutfeores & f= fRrefaa gan?
Ans X 1. ayrefia

/X 2. diarer

o 3.7

X 4@

Question ID : 9767558767




Q.12 SR A A Qh ______ st e AT 81
Ans o 1 FERTH

X 2.3
75 3. ara

X 4. TR

Question ID : 9767558769

Q.13 fr=fafEa afeat 4 | ford 'gurfores =Y & a9 & +f siren sram 82
Ans X"-WEFT

\fzﬁ——g

Z< 3.

X 4.7

Question ID : 9767558781

Q.14 fa=fefEa # @ fora 99 &t gl sraie (S afemre) & a3 & o strem srem 82
Ans X1 wéRferis

o 2 Fwr

/< 3. P

p R

Question ID : 9767558777

Q.15 fa=fefeEa & @ fore woreuT & faera w1 a1 famfor forar ur?
Ans x1q;nq@g

75 2. gar s g

o 3. TR G

/X 4. gz g

Question ID : 9767558768

Q.16 fr=afaf@ad & o= a1 Aty sar= uf = amre | R a8 82
Ans X" 1. STererarel g S

W 2. T o seE

75 3. meERT g I

7< 4. g e Rord

Question ID : 9767558775




Q.17 SRgUa AT PR WIRAA ________ # gt foRaT T T
Ans K" 1.2019

X 2.2018
o 3.2017
X 4.2016

Question ID : 9767558771

Q.18 fr=fofEa d & = @ it wHe 1 Gk IgTE0T 872
Ans X‘IW

X 2%

o 3w

75 4.9@m

Question ID : 9767558778

Q.19 fa=afafEad @ forg asu &t " wiRd &1 Siffdhs 59" & = & ff i Siar @2
Ans o 1 smoTrEd v

75 2. mmmey

/X 3w R

/X 4. aftre g

Question ID : 9767558779

Q.20 1919 & wgreT meh g1 fa=fefaa d @ fora Sen o1 IgTe forar mar ur?
Ans X 1 e da off S

75 2. wrdg Re &

/X 3. deTe A d

o 4. 9feE & sitw g

Question ID : 9767558770

Section : General Awareness?2

Q.1 f=faflad @ fram "agras yffe d sl & forg sifemv 2020 sfiar?
Ans o 1 Ried

/X 2. whete SgrEa

X 3. &ftacg

/X 4. a7

Question ID : 9767558793




Q.2 Prafafl frde RFast & @ @ a1 afavor snfre & fRya 8 &2
Ans  off 1 it T

7< 2. RrefwRr urds
75 3. Fafaa urd
X 4 Rt @ftw

Question ID : 9767558804

Q.3 fr=afaf@ad @ fora &u 7 1957 d aden gafde 1 ugen dwevor sftar?
Ans ( 1. g1 @A

7% 2.zl Raamm

25 3. 2R

X 4. R

Question ID : 9767558802

Q.4 frfofaa 7 @ fordt sraeR " wiRkdrar sfareTa o1 ugen smarsy famfar” agt siar ur?
Ans (1.%@

75 2.

< 3.3l

/X 4. T

Question ID : 9767558788

Q.5 fafafRad @ fFd " vra & wfers & s & wu & Ar=aan ara 82
Ans XYWW

75 2. e e

75 3. afeeE R

o 4 & R e

Question ID : 9767558797

Q.6 dFeAgifrweiRwATAIAA____ & TATAT T R0 fRaT|
Ans (1.\—,@”@;

p R

/X 3. 3o

X agmd

Question ID : 9767558785




Q.7 fr=faflad @ fra "agren widt & arifaes 15" & ® & Sra7 SArar u1?
Ans x 1. STaTERT S5

75 2. arerré AR

25 3. 91 TR foreren

of 4. vitarer gror iR

Question ID : 9767558787

Q.8 fr=fefRa Hawnfae dentesi d | foram =i gRIawtsa @ s & forg afe -ng smreror
arfafags, 1994 6 A srgaeh & enfare fran?

Ans  of 1 763
X 2,729
/X 3.898
75 4,653

Question ID : 9767558799

Q9 _______ & &3 Iyt & forg Mrrere urest Rt sirar 81
Ans x-].m%a

fz.aﬂw(mz)

/X 3. @

75 4 fora

Question ID : 9767558792

Q.10 if&s WIwhT Fears Agrey 7 givyon 6 g fp
ATt M|

Ans  of 1 aifeer
/X 2. ufgm dme
X 3. 7eRTE
/X 4. dftre g

#fea= g=a #fi7T (IWL) 2020-2021 &t

Question ID : 9767558800

& &= | I aleT & forg 2012 & sfia midh e 7= Sfan

Question ID : 9767558803




Q.12 RIS BT T g hd o1 7T AT?

Ans o 1 1192
KX 2.1218
/X 3.1156
X 41210

Question ID : 9767558786

Q.13 fam=fef@a & @ o= 'g fore or Aifehmad &1 aas 87
Ans X 1. sl i St

75 2. smen fRRedY

o 3 ek

/X 4. arfe 3t

Question ID : 9767558791

Q.14 #ATH 2021 deh IUT SATARIY o HIHIR AT & TEAHA i 8?
Ans X 1 i veATe

75 2. Rww gar 29

(3.a2ﬁzﬁngsﬁa

75 4. = Rig T

Question ID : 9767558790

Q.15 FrfafEa | & st wf ferara szars fepufent g =& foreht 82
Ans X 1 59 e Ug aTse

75 2. sz g dsier

W 3. fresew R

/< 4. g

Question ID : 9767558794

Q.16 fAm=faf@a d @ # o RERR @ Twfaa g aren uger ferde st &2
Ans X 1. fsr wieRER

75 2. dgaE

/X 3. AR 3l @ u

o 4w

Question ID : 9767558801




Q.17 489 Haenfaes Hamte___ # gl e & faanr-ad3 &l gah adf @ o1fde & forg gm
AT STET 39 @Rg & fawarR-ata & forg g fasiw 2raf o) orr =i fomar mar ami

Ans X1 amm
o 2. de
X 3. ke
/X 4. Rifn

Question ID : 9767558798

Q.18 fr=farfEa d @ foras smeft wfta a3 wTeesy” forma?
Ans X 1 fefzary dR

o 2. 3 9 et

/X 3. 9Tt TR foveren

X 4 grE T

Question ID : 9767558789

Q.19 g i & "=uarfes gRTaetera" &Y srumron fA=fafaa § @ fora 291 & ST @ 3ur
g g?

Ans  off 1. T S sRE
< 2. siefern
75 3. gTeds fmew
X 4.wmaE

Question ID : 9767558795

Q.20 919 Gaenfaes GememAfaumasni & __ aeh Al Y ufkug 6t Tw=ar &) ufedfaa &R
fezm

Ans X" 1. 20 ufaz
X 2. 18 vl
/X 3. 10 vl
o 4. 150fE

Question ID : 9767558796

Section : Arithmetical and Numerical ability1

Q.1 U 1250 FUQ F &t a¥g S WR, ATy 25 ufaera o1 wa a1 4fSfa war 81 afy g awg i
AT G 900 TUT &, af THR T 17 e T UT?

Ans X' 11200 3Ug
o 2.1100 7y
75 3.1250 %ug
75 4.1000 3ug

Question ID : 9767558819




Q.2 =g+ 2000 UT # Geh GRI-1 a1geh @A 311 500 TUQ @ hech gech! 737 Y| 30 ufarra
hT ATH UTW A & forg 3@ arges faraq & S anfag?

Ans X" 1.3000 3Ug
75 2.4500 3ug
75 3.4200 3ug
o 43250 7uy

Question ID : 9767558818

Q.3 Weh I&AT'x' 115, 138 3R 191 ol faufora e R w2 3, 5 3R 2 Auther Stacht &1 'x' &1 |91
T E?

Ans X 11
X 2.9
W37
75 4.6

Question ID : 9767558806

Q.4 Uak fAsror & <=t 3R Tk T SIgUTa 5 : 6 @1 500 WH =t Siie & a1 SrguIa 7 : 8 A A&
ST @1 A¢ fAsyor & Jues &Y s feraet 87

Ans 5" 1.10.5kg
/X 2.10kg
75 3.12.5kg
o 412kg

Question ID : 9767558822

Q.5 16/25 3 5/18 &1 FLAH HATUGIh S-Ich HEAH THTUGIG T fehaT T 31fdeh 872
Ans X' 1.6000

X 2.44
W 3.36000
75 4.60

Question ID : 9767558809

Q.6 & HEATq & foeent a1 230 g1 af Hw@aTg 3 : 7 3 srgura A &, @t IRt I FHTUG S qTd
& ?

Ans X' 1.263
X 2,167
of 3483
X 41449

Question ID : 9767558810




Q.7 75500 %ug Y fA Rt uferast 10 uferr aehqfex sarer w SUR forar mar ur1 2 auf & e 3
afA = &2

Ans  of 1 9135530y
/< 2.813553%ug
/< 3.81000 3ug
/X 4.91570 3ug

Question ID : 9767558824

Q.8 famfofRa d @ sta ft @ w@ 7, 2 9k 11 & e gt @ &t wwa 1 sieft?
Ans X' 1.156

of 2155

/X 3.154

X 4.157

Question ID : 9767558805

Q.9 Salim mixes two types of milk which are 5 percent and 10 percent diluted
respectively in the ratio 3:2. What is the concentration of milk in the resultant
mixture in percentage?

Ans X171
W 293
/5 3.80
/X 4.95

Question ID : 9767558823

Q.10 A, B, C 3flR D sH2T: 100 FUY, 150 FUY, 80 FUT 3i 70 TUY ufafew gugr & Wi & dai &
U H UT R 1 I8 (A aret S1UgR & WISt & 99t a1 sitad aar 82

Ans X" 1.70%ug
/X 2.120 3uy
o 3.100%ug
/X 4.86 30y

Question ID : 9767558811

Q.11 HTEEITY 116, 135 3R 211 &1 G I Honfaa Tzt o= @ it 32 farwnfora A R uds
f=fa g gura duwra sied &2

Ans X111
K 2.7
o 319
5 46

Question ID : 9767558807




Q.12 AT+ 1200 FuQ # 30 kg 317eT @AET| 39 31T 52 Fug ufer kg # == a1 fAofa forar) ag
foram ufarera @rer aifSta &m?

Ans X128
W 2.30
X 3.25
< 4.32

Question ID : 9767558817

Q.13 Mahesh sold his cycle for Rs 10080 after marking up the price by 40 percent. What
was the cost price if he sold it after giving 20 percent discount on the marked price?

Ans o 1 Rs. 9000
75 2.Rs. 8500
/5 3.Rs.8000
75 4.Rs.7500

Question ID : 9767558820

Q.14 Uek forar 3 31 e A 3R B & &t 2 : 3 & srgura & 15000 suv faafa fargl @tfer= B 7 s
&< 1 20 ufaera ra- S1& sga ot 2 fEaT e B & urw fera-t ufy a=h &2

Ans X" 1.8000 3UY
75 2.9600 3ug
o 3.7200 7y
75 4.3600 3ug

Question ID : 9767558815

Q.15 UigATSe A hHM: 65,7 s, 85,2 s, 3 s & SIeRTA WR HAUHTA &1 AfE A Teh ATY FUHRAT =
e &, dl Geh ' H forat a1R & ek 1y ruE?

Ans (1.22
X 2.20
X 318
5 424

Question ID : 9767558808

Q.16 Teh a¥g &l 15 ufra 6t &1 shfes g @15 722.5 FUQ A < a7 AT1 afy §9 a5 7 20
uferre i &t shfAer el at w1 forar e &t fasra g aan glan?

Ans X" 1580 3UY
o 2. 640 7y
/X 3.720 30y
/< 4.680 Uy

Question ID : 9767558813




Q.17 <helT d uia sTSehl oh 3t 3ich 80 &1 SAfeh=T ame & ag urar 74T foh 39 dsahl | & ek oh 3ieh STt
90 &, g 7Tl @ 60 fora few o &1 9t sitaa T @2

Ans X' 1.85
75 2.90
/X 3.80
W 486

Question ID : 9767558812

Q.18 17/21 & </ SiYeT ST+ AIfgQ arfer I/ 38 : 21 & Iure o SRIsR FTIT ST Heh?
Ans X112

o 21

X 3.3

F

Question ID : 9767558821

Q.19 ek o+t |, 25 srefarfal ) erfier & fAasrer mar 3R srret adi=r & 300 <kt fAemren mar un afe
& | et 1000 st B, @t foram ufaera sefarRal & e war ar?

Ans X' 1.35
/5 2.30
/X 3.45
o 4325

Question ID : 9767558814

Q.20 3I7FUT & UTH F© 4R & 9w ag a1 4t Usg dichele a1 uid Aegs @AE Tehdl AT I FHHAT 12
uferzra @2 & forg @ o1 fAofa feran | Ateges &Y sifQeraw s a1 & =it a8 v afyr 3 =@dg
Hepar 872

Ans X 16
K 2.3
X 35
o 44

Question ID : 9767558816

Section : Arithmetical and Numerical ability2

Q.1 fa=faf@a s 4 a3, A, B, C 3R D & fasir= itz afora uftern & 3ierl vt garfar &1 7ifora ok
fasra & 3ichl &1 T 3fdew itTa fergenT uT?

Ans (1.0
X 2.A
< 3.0
X 4.8

Question ID : 9767558843




Q.2 A foreft e @t 5 feif & o1 R Wehel @1 B gt 1d @Y 10 o=t & gx1 R Wehenr @1 AfE B ugwt
4 @ 3= ek Udieh dehfetieh f& W A Y TgTadr oar @ dat srd foras fE=i o o=y gim?

Ans X' 1.2
24
X 3.1
X 4.3

Question ID : 9767558831

Q.3 Ara i ufa FHedvarg 5 kmph 81 fRAR ar=ht J skt 7far 10 kmph 8125 km srgyang s F 3@
fepam fire s e

Ans X1 85
X 2.120
#< 3.9
o 4100

Question ID : 9767558829

Q.4 f=fef@a aR e TaR uia aut & forg ues nia &t s ot gerfar g1 9t o aut
3T ST T 82

Ans X' 1.680

/5 2.800
/X 3.750
o 4810

Question ID : 9767558841




Q.5 urs ard B3 kY =T iR Ih Therr d I Z1R1 ured Aoft kY g2afar g1 foram ufera st 3
faehra 2oft a1 39 1fdek g1 ferar &2

Ans J1.75
/X 2.55
/5 3.80
/X 4.60

Question ID : 9767558839

Q.6 gt ufe fem 5 = a1 ok 2 &=t & e g e wenelt @1 af ag ufer f& srom e & w2 Shpen
Tt @, f ag e fe=t | avre g Ref?

Ans  of 11
K 2.4
X 3.3
K 415

Question ID : 9767558830

Q.7 U uTg & @iEat e i fBrsar 5 m @ siik Aterd 20 cm g1 e g919 & forg ang & siganfaa
3mad- feran gi=m arfag?

Ans o 1.6038cum
XZ.61 cum
/< 3.58cum
/5 4.55cum

Question ID : 9767558836




Q.8 Ueh emgHt 3R Ueh Afge fAwenR 12 faAt # v e ok 9and &1 I7ht arderaard 2:3 &
3rgura # &1 3rchet h1H e R, A foraa fat & e qr1 e Tehell 82

Ans  of 1 20
K 2,15
/5 3.30
K 410

Question ID : 9767558833

Q.9 = fear T arw FmaR &Y autf & faw X, Y 8k Z shuferat Y fosht &6t garfar 81 faw g & auf
% fAIQ uar shult g1 2 7€ wad e uferia gf aar 82

Ans J 1.4
75 2.1033
X 3.25
/< 4.33.33

Question ID : 9767558844

Q.10 gep 3reHt 20 AT & &R AT 1A R & Teh ©R hl UT R ehdT 21 381 &%
4 f&t & a1 1 7 1 Sk AR A1 g faran ora ag fora= et A v
ORT HAT?
Ans X 1.25
/X 2.30
/X5 3.40
o 424

Question ID : 9767558832

Q.11 35 cm T & 20 & R o1 @it Hiew & atshet /T &2
Ans X' 1.04

/X 2.0.395

/X 303

o 40385

Question ID : 9767558835

Q.12 aferest Siwam & A1fres aaa it g2rfdt &1 39 ATfeh Aa a1 foham uferra ag = uredt &2
Ans X120

K 2.18

K 315

o 4124

Question ID : 9767558840




Q.13 = 3 srefarfiiar ashgfeg gle 20 uferra ufer af asrgis =TSt w 8000 Fug w1 ot forar 39
&t aut a1 70T T YT = far| afe I g af & a1 /o1 T Yrar foRat giarn, ot ag
foram Ot <t srara o |aRdt of1?

Ans X' 1 3505.530g
75 2.2800.8 3ug
o 3.2032.8 70y
75 4.2300.2 3ug

Question ID : 9767558825

Q.14 &9 A WTUIROT TS W Geh o AT IuTR &Y, it = awf & 9800 U & RTeR g8 R 36 it
=151 sifSta forar ag 2800 Fug uT1 afy Ia+ 38 THT 3afY ik TH19 &% R arfh aehqfeg st
Tehefe saTel R Rt ghan, &t @R af & oia & uf Ay o ghft?

Ans X" 1.10000.5 397
75 2.10500.6 Uy
/X 3.12000.9 3ug
o 4102487 30g

Question ID : 9767558826

Q.15 Teh ISt 120 m &t & 3fiR 54 kmph &Y 7 @ gra ahzedt 1 TS bl A= & 150 m &
eHTH Y UIR e | feha=T 99g eiem?

Ans X109
X 2.05
o 303
X 404

Question ID : 9767558828

Q.16 @ 500 m H 3 5 e d S "aret oft1 kmph & saeht wifer o/ &2
Ans  of 16

K 2.4

5 3.5

X 4.45

Question ID : 9767558827

Q.17 28 cm f3r=ar & it a1 ok gefta etshet o @2
Ans x 1.4900 sqcm

o 24928 sqcm
x 3.5000 sqcm

x 4.4928.56 sqcm

Question ID : 9767558834




Q.18 3 cm f3rsaT & g 2ig &t 7 cm Brear & siefita & smenR w @ T 81 20 Y s siefrite
&Y Fand @ SRR &1 3t ot ufvonHt s o 82

Ans X" 1.805.69 cucm
o 2.850.67 cucm
/< 3.750.85 cu cm
x 4.900.01 cucm

Question ID : 9767558837

Q.19 fa=Afeif@a arferent af 2019 & 4 fafvra sufvat g1 A=ht 71 =Y HY =T ot g2afdt 812019 &
&1 4 shufral g1 = 7 w1 R el T = g?

Ans o 114300
75 2.10500
/X 3.16050
75 4.14000

Question ID : 9767558838

Q.20 fam=faf@a urw o aut & efer & arfRies 3 =t g2rfar @1 3a= gf @ ufdea o & st s
e avf & =R avf ae 3@ 87

Ans x1_75
o 260
75 3.30
/X 4.45

Question ID : 9767558842

Section : English Language & Comprehension1

Q.1 Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the
option that gives the correct sequence in which these parts can be rearranged to
form a meaningful and grammatically correct sentence.

The existing oath

P. of allegiance for people

Q. seeking British nationality
R. is to be changed

S. from aroyal oath

to a citizenship pledge.
Ans X" 1 PSQR

/X 2.RsqP
#< 3.QPSR
o 4.PaRs

Question ID : 9767558859




Q.2 Fillin the blank with the appropriate word.

The state and its autocracy always abandonedits _______________ poor.
Ans " 1 united
/X 2. delighted
J 3. benighted
x 4. elated
Question ID : 9767558856
Q.3 Fillin the blank with the appropriate word.
His seemed to reveal more than what he was trying to hide.

Ans X 1 association
75 2.jubilation
x 3. culmination

J 4. prevarication

Question ID : 9767558854

Q.4 The sentence below has been divided into three parts. Select the part of the
sentence that has an error. If the sentence has no error, select the option 'No
Error'.

Ans X 1. the state heads nor did they

x 2. No error

x 3. Neither did the authorities warn

J 4. ensured necessary quarantine measures.

Question ID : 9767558847

Q.5 The sentence below has been divided into three parts. Select the part of the
sentence that has an error. If the sentence has no error, select the option 'No
Error'.

Ans x 1. His recovery from the final stage

x 2. No error

J 3. of cancer is being hailed as the

x 4. miracle in the world of medicine.

Question ID : 9767558848

Q.6 Select the word that is closest in meaning (SYNONYM) to the word given below

Commensurate
Ans ( 1. Proportionate

x 2. Veracious
x 3. Venerate

x 4. Fictitious

Question ID : 9767558864




Q.7 Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the
option that gives the correct sequence in which these parts can be rearranged to
form a meaningful and grammatically correct sentence.

It is not a coincidence that William Wilberforce
P. and Sir Thomas Foxwell Buxton,
Q. to abolish the slave trade, helped

R. two leaders of the movement
S. found the Royal Society for the Prevention

of cruelty of animals in the 1820s
Ans X' 1 PQRS

o 2.Pras
/< 3.PSQR
/5 4.PRSQ

Question ID : 9767558860

Q.8 Select the word that is closest in meaning (SYNONYM) to the word given below

Voracious
Ans  of 1 insatiable

X 2. Abstemious

/X 3.Dainty

X 4. Squeamish

Question ID : 9767558862

Q.9 Select the word segment that substitutes (replaces) the bracketed word segment
correctly and completes the sentence meaningfully. Select the option 'no
correction required' if the sentence is correct as given.

A new computer (virus the fastest spreading ever was) this week making the rounds
among unprotected computers running on Microsoft Windows.

Ans x 1. virus the fastest spreading ever, was
“ 2. virus, the fastest spreading ever, was
x 3. virus, the fastest spreading ever was

X 4. No correction required

Question ID : 9767558851

Q.10 The sentence below has been divided into three parts. Select the part of the
sentence that has an error. If the sentence has no error, select the option 'No
Error'.

Ans X 1. the president has announced

x 2.In an unexpected turn of events,

J 3. his resignation with the office today.

x 4. No error

Question ID : 9767558845




Q.11 The question below consist of a set of labelled sentences. Out of four options
given, select the most logical order of the sentences which form a paragraph.

The Pygmalion effect is a psychological phenomenon wherein high expectations lead
to improved performance in a given area.

P. Its name comes from the story of Pygmalion, a mythical Greek sculptor.

Q. She took pity and brought the statue to life and the couple married and went on
to have a daughter, Paphos.

R. Unable to love a human, Pygmalion appealed to Aphrodite, the goddess of love.

S. Pygmalion carved a statue of a woman and then became enamoured with it.

The conclusion derived from that story is that the same way Pygmalion's fixation on
the statue brought it to life, our focus on a belief or assumption can do the same.

The flipside is the Golem effect, wherein low expectations lead to decreased
performance.

Ans "1 PQSR
/5 2.PQRs
75 3.PsQR
o 4.PSRQ

Question ID : 9767558858

Q.12 Select the word that is opposite in meaning (ANTONYM) to the word given below

Vicissitude
Ans X 1 Mutation

of 2. Stability
X 3. Corrode
x 4.Change

Question ID : 9767558863

Q.13 Select the word segment that substitutes (replaces) the bracketed word segment
correctly and completes the sentence meaningfully. Select the option 'no
correction required' if the sentence is correct as given.

Last year alone more than 34 billion U.S. (dollars were raised worldwide through
crowdfunding).

Ans “ 1. dollars was raised worldwide through crowdfunding
x 2. dollar were raised worldwide through crowdfunding.
x 3. No correction required

x 4. dollars were raized worldwide by crowd funding.

Question ID : 9767558852




Q.14 The question below consist of a set of labelled sentences. Out of four options
given, select the most logical order of the sentences which form a paragraph.

A Post-it note is a small piece of paper with a strip of low-tack adhesive on the back
that allows it to be temporarily attached to documents, walls, computer monitors,
and just about anything else.

P. The 3M company was initially sceptical about the product's profitability, but in
1980, the product was introduced around the world.

Q. The idea for the Post-it note was conceived in 1974 by Arthur Fry as a way of
holding bookmarks in his hymnal while singing in the church choir.

R. He was aware of an adhesive accidentally developed in 1968 by fellow 3M
employee Spencer Silver.

S. No application for the lightly sticky stuff was apparent until Fry's idea.

Today, Post-it notes are sold in more than 100 countries.
Ans X 1.QSPR

75 2.QRPS
/X 3.QPSR
o 4.QRsP

Question ID : 9767558861

Q.15 Fillin the blank with the appropriate word.

The judge banged his ____________ several times to demand silence, but he couldn't
be heard above the noise that was increasing by the minute.

Ans X1 gravel
x 2. swivel
W 3. gavel
x 4. carvel

Question ID : 9767558855

Q.16 The sentence below has been divided into three parts. Select the part of the
sentence that has an error. If the sentence has no error, select the option 'No
Error'.

Ans &X' 1. No Error
x 2. convinced with the plan.
X 3. everyone else seemed thoroughly

« 4. Except for Joseph and |,

Question ID : 9767558849




Q.17 The sentence below has been divided into three parts. Select the part of the
sentence that has an error. If the sentence has no error, select the option 'No
Error'.

Ans X 1. an uproar amongst the students as
x 2. No Error
X 3. they are on the same dates as some other entrance exams.

J 4. The dates allotted last week for the re-examination have had caused

Question ID : 9767558846

Q.18 Fillin the blank with the appropriate word.

He had half expectedadivine _______________
queued for the body and blood.

Ans X" 1. competitive
X 2. consecutive
J 3. pre-emptive

X 4. postoperative

strike, a thunderbolt maybe, as he

Question ID : 9767558857

Q.19 Select the word segment that substitutes (replaces) the bracketed word segment
correctly and completes the sentence meaningfully. Select the option 'no
correction required' if the sentence is correct as given.

It was phenomenal to watch the way he (keeps his coolin this dire times).

Ans x 1. keeps his cool in these dire time
X 2. kept his cool in this dire times
J 3. kept his cool in those dire times

X 4. No correction required

Question ID : 9767558853

Q.20 Select the word segment that substitutes (replaces) the bracketed word segment
correctly and completes the sentence meaningfully. Select the option 'no
correction required' if the sentence is correct as given.

The (weather conditions on that day was) dubious at best, so we decided to travel
at a later date.

Ans ( 1. weather condition on that day was
x 2. weather conditions during the day were
X 3. weather condition on that day were

x 4. No correction required

Question ID : 9767558850

Section : English Language & Comprehension2




Q.1 Four words are given, out of which only one word is spelt correctly. Choose the
correctly spelt word.

Ans x 1. Comprehensibel
J 2. Comprehensible
x 3. Comprehencible
x 4. Comprehenisible

Question ID : 9767558867

Q.2 Select the most appropriate meaning of the given idiom

Add fuel to the fire

Ans x 1. When someone is threatening and/or aggressive but not willing to engage in a
fight.

x 2. To have a dispute with someone.
“ 3. Whenever something is done to make a bad situation even worse than it is.

x 4. When everyone is facing the same challenges.

Question ID : 9767558871

Q.3 Select the word that is opposite in meaning (ANTONYM) to the word given below

Peruse
Ans X" 1. Examine

x 2. Swindle
J 3. Neglect
x 4.Con

Question ID : 9767558865

Q.4 Four words are given, out of which only one word is spelt correctly. Choose the
correctly spelt word.

Ans o 1 Fiduciary
x 2. Feduiciary
x 3. Feduciary
x 4. Fiduiciary

Question ID : 9767558870

Q.5 Select the most appropriate 'one word ' for the expression given below

Intended to cause delay.
Ans x 1. Declaratory

x 2. Exculpatory
J 3. Dilatory

x 4. Explanatory

Question ID : 9767558878




Q.6 Select the most appropriate 'one word ' for the expression given below

Intended for or likely to be understood by only a small number of people with a
specialized knowledge or interest.

Ans X" 1. Concentric

x 2. Sophomoric

J 3. Esoteric

X 4. Isosteres

Question ID : 9767558877

Q.7 Four words are given, out of which only one word is spelt correctly. Choose the
correctly spelt word.

Ans X" 1. Heamorrhage
x 2. Heamorraghe
x 3. Haemorraghe

J 4. Haemorrhage

[ Question ID : 9767558869

Q.8 Select the most appropriate meaning of the given idiom
Backseat driver
Ans x 1. Someone who fend for themselves and their family even from far away
x 2. Someone who doesn't like to participate in anything.

J 3. Someone who gives unwanted advice or who tries to control something that is
supposed to be controlled by another person.

x 4. Someone who is very good at their job.

Question ID : 9767558872

Q.9 Select the most appropriate 'one word ' for the expression given below

A strong verbal or written attack on someone or something.
Ans x 1. Acmic

x 2. Demic
J 3. Polemic
x 4. Gamic

Question ID : 9767558876

Q.10 Select the most appropriate meaning of the given idiom

Beating a dead horse.

Ans J 1. To waste effort on something when there is no chance of succeeding.
x 2. When an attempt succeeds and it's time to take up a new one.
X 3. To force an issue that has already ended.

x 4. A task that can be accomplished very easily.

Question ID : 9767558873




Q.11 Select the most appropriate meaning of the given idiom
Finding your feet
Ans ( 1. To become more comfortable in whatever you are doing.
x 2. Not willing or wanting to change from your normal way of doing something.

x 3. Something that shows potential or looks promising in the beginning but fails to
deliver anything in the end.

x 4. To go from being very poor to being very wealthy.

Question ID : 9767558874

Q.12 Select the most appropriate meaning of the given idiom
Dropping like flies
Ans x 1. The hottest days of the summer season.
X 2. Toirritate and/or annoy very much.
x 3. Being inquisitive about a dangerous situation.

J 4. A large number of people either falling ill or dying

Question ID : 9767558875

Q.13 Four words are given, out of which only one word is spelt correctly. Choose the
correctly spelt word.

Ans X 1. Incarserate

J 2. Incarcerate

x 3. Incerate

x 4. Incarcarate

Question ID : 9767558868

Q.14 Select the most appropriate 'one word ' for the expression given below

Brisk and cheerful readiness.
Ans X' 1 Celerity

x 2. Sorority
x 3. Felicity
“ 4. Alacrity

Question ID : 9767558879

Q.15 Select the word that is closest in meaning (SYNONYM) to the word given below

Slapdash
Ans X 1 painstaking

x 2. Careful
“ 3. Haphazard
x 4. Meticulous

Question ID : 9767558866




Comprehension:

A passage is given with 5 questions following it. Read the passage carefully and choose
the best answer to each question out of the four alternatives.

Erwin Schrodinger was born in Vienna on August 12, 1887 and was awarded the Nobel Prize
in Physics in 1933. He is best known for his work regarding quantum theory, particularly
about his thought experiment involving a cat in order to explain the flawed interpretation of
quantum superposition.

The Copenhagen Interpretation of quantum mechanics essentially states that an object in a
physical system can simultaneously exist in all possible configurations, but observing the
system forces the system to collapse and forces the object into just one of those possible
states. Schrodinger disagreed with this interpretation.

So, what does this have to do with cats? Schrodinger wanted people to imagine that a cat,
poison, a Geiger counter, radioactive material, and a hammer were inside of a sealed
container. The amount of radioactive material was minuscule enough that it only had a
50/50 shot of being detected over the course of an hour. If the Geiger counter detected
radiation, the hammer would smash the poison, killing the cat. Until someone opened the
container and observed the system, it was impossible to predict the cat’s outcome. T hus,
until the system collapsed into one configuration, the cat would exist in some superposition
zombie state of being both alive and dead.

Of course, Schrodinger claimed, that was ridiculous. Quantum superposition could not work
with large objects such as cats, because it is impossible for an organism to be
simultaneously alive and dead. T hus, he reasoned that the Copenhagen Interpretation must
be inherently flawed. While many people incorrectly assume Schrédinger supported the
premise behind the thought experiment, he really didn’t. His entire point was that it was
impossible.

While it is true that modern experiments have revealed that while quantum superposition
does work for tiny things like electrons, larger objects must be regarded differently.
SubQuestion No : 16

Q.16 According to the passage, which of the following given statements are incorrect?

Ans I 1. Many people incorrectly assume Schrodinger did not support the premise behind
the thought experiment.

x 2. Schrédinger disagreed with the Copenhagen Interpretation of quantum mechanics.

x 3. The Copenhagen Interpretation of quantum mechanics essentially states that an
object in a physical system can simultaneously exist in all possible configurations, but
observing the system forces the system to collapse and forces the object into just one of
those possible states.

x 4. Modern experiments have revealed that while quantum superposition does work
for tiny things like electrons, larger objects must be regarded differently.

Question ID

1 9767558884




Q.17

Ans

Comprehension:

A passage is given with 5 questions following it. Read the passage carefully and choose
the best answer to each question out of the four alternatives.

Erwin Schrodinger was born in Vienna on August 12, 1887 and was awarded the Nobel Prize
in Physics in 1933. He is best known for his work regarding quantum theory, particularly
about his thought experiment involving a cat in order to explain the flawed interpretation of
quantum superposition.

The Copenhagen Interpretation of quantum mechanics essentially states that an objectin a
physical system can simultaneously exist in all possible configurations, but observing the
system forces the system to collapse and forces the object into just one of those possible
states. Schrodinger disagreed with this interpretation.

So, what does this have to do with cats? Schrodinger wanted people to imagine that a cat,
poison, a Geiger counter, radioactive material, and a hammer were inside of a sealed
container. The amount of radioactive material was minuscule enough that it only had a
50/50 shot of being detected over the course of an hour. If the Geiger counter detected
radiation, the hammer would smash the poison, killing the cat. Until someone opened the
container and observed the system, it was impossible to predict the cat’s outcome. T hus,
until the system collapsed into one configuration, the cat would exist in some superposition
zombie state of being both alive and dead.

Of course, Schrodinger claimed, that was ridiculous. Quantum superposition could not work
with large objects such as cats, because it is impossible for an organism to be
simultaneously alive and dead. T hus, he reasoned that the Copenhagen Interpretation must
be inherently flawed. While many people incorrectly assume Schrédinger supported the
premise behind the thought experiment, he really didn’t. His entire point was that it was
impossible.

While it is true that modern experiments have revealed that while quantum superposition
does work for tiny things like electrons, larger objects must be regarded differently.

SubQuestion No : 17

According to the modern experimental physics, the Copenhagen Interpretation
works for which kinds of objects?

f 1. Small objects like electrons
x 2. Small and large objects alike
75 3. Large objects like cats

x 4. 1t does not work for any kinds of object.

Question ID

1 9767558885




Q.18

Ans

Comprehension:

A passage s given with 5 questions following it. Read the passage carefully and choose
the best answer to each question out of the four alternatives.

Erwin Schrodinger was born in Vienna on August 12, 1887 and was awarded the Nobel Prize
in Physics in 1933. He is best known for his work regarding quantum theory, particularly
about his thought experiment involving a cat in order to explain the flawed interpretation of
quantum superposition.

The Copenhagen Interpretation of quantum mechanics essentially states that an object in a
physical system can simultaneously exist in all possible configurations, but observing the
system forces the system to collapse and forces the object into just one of those possible
states. Schrodinger disagreed with this interpretation.

So, what does this have to do with cats? Schrodinger wanted people to imagine that a cat,
poison, a Geiger counter, radioactive material, and a hammer were inside of a sealed
container. The amount of radioactive material was minuscule enough that it only had a
50/50 shot of being detected over the course of an hour. If the Geiger counter detected
radiation, the hammer would smash the poison, killing the cat. Until someone opened the
container and observed the system, it was impossible to predict the cat’s outcome. T hus,
until the system collapsed into one configuration, the cat would exist in some superposition
zombie state of being both alive and dead.

Of course, Schrodinger claimed, that was ridiculous. Quantum superposition could not work
with large objects such as cats, because it is impossible for an organism to be
simultaneously alive and dead. T hus, he reasoned that the Copenhagen Interpretation must
be inherently flawed. While many people incorrectly assume Schrédinger supported the
premise behind the thought experiment, he really didn’t. His entire point was that it was
impossible.

While it is true that modern experiments have revealed that while quantum superposition
does work for tiny things like electrons, larger objects must be regarded differently.

SubQuestion No : 18

According to the passage, in the thought experiment of Schrodinger’s cat what are
the chances of the cat being alive or dead?

x 1. 30 percent alive 70 percent dead
K 2. 70 percent alive 30 percent dead
x 3. 40 percent alive 60 percent dead

( 4. 50 percent alive 50 percent dead

Question ID

1 9767558883




Q.19

Ans

Comprehension:

A passage is given with 5 questions following it. Read the passage carefully and choose
the best answer to each question out of the four alternatives.

Erwin Schrodinger was born in Vienna on August 12, 1887 and was awarded the Nobel Prize
in Physics in 1933. He is best known for his work regarding quantum theory, particularly
about his thought experiment involving a cat in order to explain the flawed interpretation of
quantum superposition.

The Copenhagen Interpretation of quantum mechanics essentially states that an object in a
physical system can simultaneously exist in all possible configurations, but observing the
system forces the system to collapse and forces the object into just one of those possible
states. Schrodinger disagreed with this interpretation.

So, what does this have to do with cats? Schrodinger wanted people to imagine that a cat,
poison, a Geiger counter, radioactive material, and a hammer were inside of a sealed
container. The amount of radioactive material was minuscule enough that it only had a
50/50 shot of being detected over the course of an hour. If the Geiger counter detected
radiation, the hammer would smash the poison, killing the cat. Until someone opened the
container and observed the system, it was impossible to predict the cat’s outcome. T hus,
until the system collapsed into one configuration, the cat would exist in some superposition
zombie state of being both alive and dead.

Of course, Schrodinger claimed, that was ridiculous. Quantum superposition could not work
with large objects such as cats, because it is impossible for an organism to be
simultaneously alive and dead. T hus, he reasoned that the Copenhagen Interpretation must
be inherently flawed. While many people incorrectly assume Schrédinger supported the
premise behind the thought experiment, he really didn’t. His entire point was that it was
impossible.

While it is true that modern experiments have revealed that while quantum superposition
does work for tiny things like electrons, larger objects must be regarded differently.

SubQuestion No : 19

The thought experiment Schrodinger’s cat explains the flawed interpretation of
which subject matter?

75 1.Fluid Dynamics
x 2. Quantum theory
( 3. Quantum Superposition

K 4. T heory of relativity

Question ID

1 9767558882




Comprehension:

A passage s given with 5 questions following it. Read the passage carefully and choose
the best answer to each question out of the four alternatives.

Erwin Schrddinger was born in Vienna on August 12, 1887 and was awarded the Nobel Prize
in Physics in 1933. He is best known for his work regarding quantum theory, particularly
about his thought experiment involving a cat in order to explain the flawed interpretation of
quantum superposition.

The Copenhagen Interpretation of quantum mechanics essentially states that an object in a
physical system can simultaneously exist in all possible configurations, but observing the
system forces the system to collapse and forces the object into just one of those possible
states. Schrodinger disagreed with this interpretation.

So, what does this have to do with cats? Schrodinger wanted people to imagine that a cat,
poison, a Geiger counter, radioactive material, and a hammer were inside of a sealed
container. The amount of radioactive material was minuscule enough that it only had a
50/50 shot of being detected over the course of an hour. If the Geiger counter detected
radiation, the hammer would smash the poison, killing the cat. Until someone opened the
container and observed the system, it was impossible to predict the cat’s outcome. T hus,
until the system collapsed into one configuration, the cat would exist in some superposition
zombie state of being both alive and dead.

Of course, Schrodinger claimed, that was ridiculous. Quantum superposition could not work
with large objects such as cats, because it is impossible for an organism to be
simultaneously alive and dead. T hus, he reasoned that the Copenhagen Interpretation must
be inherently flawed. While many people incorrectly assume Schrédinger supported the
premise behind the thought experiment, he really didn’t. His entire point was that it was
impossible.

While it is true that modern experiments have revealed that while quantum superposition
does work for tiny things like electrons, larger objects must be regarded differently.

SubQuestion No : 20

Q.20 When was Erwin Schrodinger awarded the Nobel prize and in which field?

Ans X" 1.1929 in Chemistry
/X 2.1927 in Biology
o 3.1933in Physics

/X 4.1933in Maths

Question ID : 9767558881

Section : Hindi Language & Comprehension1

Q.1 f=faf@ausn d, == foepeal & @, 39 farehed &1 T &3 it 23T 2T 1 Tt e gl
Ans  of 1 weue

75 2. et
75 3. wed
X 4.%m

Question ID : 9767558891




Q.2 frAfaf@aus ¥, ar faeedl 9 @, 39 frerea @1 o= & it fRY 1Y 2ree & aga== wu &1 9ad
3raT faaea &1
faifean

Ans X1 fafRareit
X 2. iRt
75 3. it
of 4 fifat

Question ID : 9767558905

Q.3 fa=faf@ausn d, o faeeul & @, 39 Tl faeea o1 g9 &3 51t fEu g e & Tt oref &t
3fAa faerea g
a

Ans X1 e
X 2.9
X 3w
o 4.3

Question ID : 9767558898

Q.4 fa=faf@dun d, == foepeul & @, 39 farehed &1 wra= &3 it fU 11 2reg & Tl dfY) foede ot
faerea g1
wfrerreff

Ans X" 1 udlerm + emeff
75 2. e + off
o 3. oer + anff
/X 4.7 + ameff

Question ID : 9767558894

Q.5 f=faf@a usr d, o faereut & @, 39 gl faaea o1 wga &3 it araiei & forg gen 21 a1
faerea gt
forad ggg afr gt

Ans X1 i
< 2. sk
X 3. oy
V 4wl

Question ID : 9767558897




Q.6 fa=aferf@a usr A, R fereal & @, I faerea o1 999 &3 1 fou g 21 & forg o) g< gwrg
& farg o1 e gl
ST WRIAT

Ans  of 1 s ofik R
25 2. 370 THE W
7 3. 37T T R

25 4. 3o & i wRra

Question ID : 9767558892

Q.7 fa=fafEauy &, ar fasedl @ @, 39 faea &1 aga & it g 1y 2ree & gafger 21 o1
gl g adi g 1

TR
Ans X 1. faEy

X 2.9
v 35

p R

Question ID : 9767558895

Q.8 f=fofRa uer &, 9 el & @, 39 faerea &1 9g=1 3 St s A g g 2reg & Srge?
daTH & A &1 9l fameu gt
&t arge oY, (@) e s @1

Ans o 1 Psprars
X 2. Rroare
/X 3. Ty ares

/X 4. usare

Question ID : 9767558889

Q.9 fm=fef@a us d, T faereul & @, 39 fasea @1 wg= &1 it fEu 1Y 2reg, &1 a9 Tu gl
et

Ans X 1. gof
X 2.
o 3.0
/X 4.ude

Question ID : 9767558893




Q.10 fa=fafEa us &, == faereat A @, 39 faerea &1 a1 I it fig 710 2reg & Shifer =u arer adt
fapea 21
E1G
Ans X 1 R
o 2. e
/X 3. e
75 4 At

Question ID : 9767558904

Q.11 fa=Afaf@a uy &, == faereal & @, 39 forerea &1 99w &3 St WTaEaT=es 9T A1 Tl faerea T8t
2l

Ans X1 ey
/X 2. Rgmar
/X 3.3
V&S

Question ID : 9767558888

Q.12 faafaf@a uy &, == faereal d @, 39 forerea &1 == 63 St e 2reg &1 Ta@ er=aT faeney
gl

ary

Ans X1 g
X 2. /4
o 330

X 4 e

Question ID : 9767558896

Q.13 fa=fafaa usr &, =R fereal d @, 39 fererey a1 =g 63 S foraT & A aren 98 frereu gt
srearfent o1l | Ygntd wvardt g1

Ans X1 T e
/X 2. gdeniferes o
o 3. SRomef B

75 4. Amerg fown

Question ID : 9767558886

Q.14 fam=faf@a usr d, ar faeedl 9 |, 39 gl fereu o1 wa= w1 it g 71Q 2ree-gma & oref a1 agt
farerea gl
R efir =R

Ans X1 @il sk ae
X 2. &1 eiRae
X 3 TR g
V 2w sRaE

Question ID : 9767558903




Q.15 fa=fafEa us &, == faereal A @, 39 faerea &1 a1 o3 it g 710 2reg & gur=nff 2reg &t
fareprea i &1
afores -

L S
o 2 ofe=
/X 3.afm
/X 4.

Question ID : 9767558902

Q.16 fr=forf@a v &, = faeedl d |, 39 fereu o1 9971 = it s | 4y 1Y oreg & sigarR
3 & e & Al faemeu gt
(2rramer) gA aga srest T fRaT

Ans X 1. Tsuetee s
/X 2. Tt s
/X 3. Rrarfasivor s
J4ﬁwﬁa‘rwm

Question ID : 9767558887

Q.17 fam=fof@a us d, 9 faeedl 9 |, 39 fasen o1 999 & <7t Fies d g 79 2reg & srgar
faiwor & A< e faerea gt

I R T () 81
Ans X" 1 aifafd aRmmr e
o 2. s
75 3. AifYa demErs
X 4. TR

Question ID : 9767558890

Q.18 fam=ferf@a ust d, = faeedl 9 |, 39 faseu o1 99 &R St [ 2T &1 T a1
Ans " 1 g

of 3. dar
/X 4. mata

Question ID : 9767558900

Q.19 fa=fef@Ea us d, ar faeedl 9 |, 39 faseu o1 999 &R St [z e &1 a8 famsa g1
Ans JIGTT-‘EﬁHT?I

75 2. aRafe

/< 3. anRfe

75 4. aTRRare

Question ID : 9767558901




Q.20 fam=forf@e us d, = faeredt 9 |, 39 Tl frerea o1 Ta+1 o 1t fies =171 & forg Sugh 2reg
T T faereu 2 |

Question ID : 9767558899

Section : Hindi Language & Comprehension2

Q.1 fa=faf@aun d, == foereul & @, 39 faerea &1 o= &3 it fEu g arer & forg uet & 9e ot
a8 a1 faehrea 21
T T JETR I&dT g1 ST @7 8!

Ans x1_m
/X 2. smswEida
o 3. e
/X 4. gofareias

Question ID : 9767558909

Q.2 fa=Afaf@auy A, =R faereal A @, 39 faered &1 =9 3 S gt a1 A o1 fArea gl
I9 98 YeaeRTad @g forar & st Az um

Ans X 1. Ry A
X 2. g ar
X 3w am
J4.fﬁsranau

Question ID : 9767558912

Q.3 f=fafRa vsr |, T et & 9, 39 ferea &1 9a+1 3 Sit (5 a1 o1 Je’t 3resT faeheu g1
Ans X" 1. ggieh 223 Tiiet iR T @ aireRwor fma|

/X 2.y dxr R et @ Aot & ereRET faa B

of 3. oS dar 3 it ok didt & srmeRoT |

/X 4. ot 313 et 3R dtat @ SHrRwOT R S|

Question ID : 9767558910




Q.4 fr=fafia us |, 9 e | 9, 39 ferea &1 a7 & 1t f3g 719 gerer o1 wgt eref aren
faerea g1
UTg -

Ans X 1. 9 ger
75 2. 5ga ek =TT
W 3.7 @ s s

75 4. el g

Question ID : 9767558917

Q.5 f=afafaa us |, o fawmeat § @, 39 fRdea &1 9a7 st foarm Rig g+ area o 9 faeea
Eill

Ans X 1 iR & T A et 3R w0 et o &, oler & forg arer & Sy
75 2. e B 1T A gt SR Hf Y S & "oter & forg eere &Y Sy
75 3. e & 1T A gt SR Hof S & orle & forg are &Y STy
o 4. "R 3] 3o e ok weft Y o & "ot & g @ g

Question ID : 9767558913

Q.6 fre=ferEa ust &, o= faeredl & 9, 39 faeea &1 ag+ &I St g 7g are & forg gfvr & S &
Tt 3T fasreu g1
o s gl @RI

Ans x 1. Ggref
25 2. G
/X 3. Rt
o 4 Prepmf

Question ID : 9767558908

Q.7 f=fafaa v &, o fameal 7 @, 39 ey &1 9g- o 51t Fisa & g g oreg & srgam?
AR YOV ardeh HATH T G 31<ST faehed 81

Ans X 1 (37) a1 AT Sgd HidA 8|
/X 2. (@) 3@ TR TR R ST AR
/X 3. (57 SRS & @t A S off g1 S TehelT B
o 4. (o) o & et g @R T A

Question ID : 9767558906

Q.8 fa=faf@ausnd, 9 faereul & @, 39 faeed o1 =g &3 it fEU 1Q are & &1t 1 Tt faesea
gl
3rer=ter A @ @t ferar ghmi

Ans X 1. G vl
o 2. e
X 3. G S
75 4. T Y

Question ID : 9767558907




Q.9 fr=fefRa us |, 9= et | 9, 39 farerea &1 wa= & S1t g 719 gerer o1 Tt eref aren
faerea g1
deta? R 1R R =II-

Ans X" 1. g FgT HmE R AT
75 2. e g
75 3. ik Y emsr F @
o 4 353 FR Frf A=

Question ID : 9767558915

Q.10 fr=fafaa usr &, =R fRereal d @, 39 ferere a1 =g e St &) 7 AYeni e @1 T oref arar
farea 81
aoet it areT de & /R -

Ans X" 1. gRom g T Feher
o 2.3 et @, o vt ok Y
X 3. AR v2 w33 eter wERT e
/X 4. =TT &) AT @ i AT Tl &

Question ID : 9767558920

Q.11 fa=fef@a us 9, 9 fawedl 9 |, 39 fasen o 99 &R <1t 9t are 95 @1 s gh
ag 39 1M H UAtEIT e g1 foh gerd qerrenta gt S |

Ans X 1 Tigh A
o 2 Rz
/X 3.y A

5 4 wE A

Question ID : 9767558911

Q.12 far=fafaa usr &, = fereal d @, 39 fererey o1 =g e St €Y 7 AYenifp 1 I oref arar
faerea g1
glah @ feheft @eies 9 U -

Ans  off 1 3 @ Fravcht a1a IR TR # dr el
X 2. S e @ whet e
7% 3. 8FTeR & v vga A & R &
/X 4. R e fog e &1 ST

Question ID : 9767558918

Q.13 fr=fef@e us d, = faeredt 9 |, 39 faweu o1 997 R 5t forra g g« araa @1 a@l fawea
gt

Ans X" 1 g5 Ricen RieeiaR &g 281 o, "g8) uehs-all 37 & a8 el sErd 3
/X 2. 98 Rive-RiestaR & 361 o1 43 uahe-all! & & a8 uedl SErd |
/X 3. a8 Ricen-Ricsra &g 81 91, g3 ushe-ail! 3 & a8 ued s@rd g
( 4. g RceT-Riceiens g 8T T, "g3! Udhs-dll #7 g 98 ued I@Tel 8"

Question ID : 9767558914




Q.14 fe=forfaa usr &, =R faereal A @, I foreret o1 =1 62 St &) 7 wAteni 6 a1 T&) oref arer
faerea &1
da o, gy -

Ans X 1. faeft el ot aRomme e
25 2. <1id UepTa el Hgsa shieh Hgsa Bl gRT AT &
7 3. el &t =rrer Y g weH
o 4 o ws B g e

Question ID : 9767558919

Q.15 fam=faf@a us d, =R faeredl d |, 39 faeea o1 ag9 &3 it fag 7g ggrar o Tt srf arer
farepea 21
@} geh ard sh-

Ans X 1. arvE €A
7 2. waeE dar e
(' 3. A2 e § TE 91 T

X 4vga g

Question ID : 9767558916

Comprehension:

12 oy & eria & 9T 5 U Y T §1 39 Terier ot eHydeh Ue SR IR fadhed # € Uik U
gaTH WA |

T gaur i srfifa & 77 afYes ararazor A fReh s e o get ge & vt § ok R
TRas # U fasmat Y AR 81 TS & ST I <h a1, fa, SToRTy, rerd 3R svaf Sl /g Y gad
Uil SR AR 9 36 &1 id g a1 v § foh T grasi™ 3 oft Ikt it Achet &t o <t
&1 amyfrerdT & AT UR ST g R ST @1 8, AT 1 T 8, ITY R Sfiaw geut ot gg ot off Rear
T8 8, 3 I § oft AT ¥ &1 At Y STt T2 H Ta1een oI o [ shet el STg gRaRf & I
FoH G HRGT, ST 3R TR BT ITE! &, ITehT ST &l Jifereh &1 S 3 §, 98 I 8l &
GerdT| THTST Y AT S T T T8} STt THIST 1d FTT 811 SIS g Aot 8t 8 & foh qras
Ty S arer st gal © IR Uifeat ge a1y Siid 9R e 3@ §1 Ao I g1 B Ry of grast
R femaTy SR GATY o7 T8 TR iR et R oot sher draehm ot €1 U drfend 7 g &, 1 Tt
g g Y 1feh & 51 TR Y 1 78, a8 Yaw Y & TerdT &1

SubQuestion No : 16
Q.16 379 @ = - 41 2reg fAA2r &1 wafaart T a8 82

Ans X 1 yas
K 2w
W 3. s

75 4. R sisem

Question ID : 9767558925




Q.17

Ans

Comprehension:

= &g 73 TTeriRr & A1g 5 U iU T €1 9 e Sl eHgde Ue SR IR faehedt # § Udeh Ul
o IR |

T Sgaarg dr srfifa & 7Y affen aramazor A fadef gsh e @ et ge & 7@t § e aro

& 7 T8 RAFTIT I TRAR g1 T8 & ST I~Ych areT, (89, STuRTe, dierd SR $8af S 719d &l giad
Uil el SR AR e 36 6| 3Ad @ 1 v § foh T qrasi@ 3 off Ikt +fist Aehet &t o =it
&1 SmYIeRdT & A TR ST o R@man 511 381 §, AT S 361 8, ST TR Sita+ qeat et g et off Rear
TEl 8, 3 I § oft il ¥ &1 T Ut it @ H Ig 1 UM o [ e hl STE gRa’ & A
FoT F© HIRGHT, ST 3R AR AT AT6e 6, IehT AT gl Hifeleh g1 St 319 §, 98 I 7l o
FendT| THTST & AT S T T T8 81T At THIST G ST 81| TS I8 Hole! 81 T8 & foh qrasi )
e@Tq S arer sreetier geal § IR Wit Yoh T Siid TR & 6T &1 AdTel 9 gl Bie 1Y) off gras
IR fem@Tq SR GATY 11 T8 R iR HirHAret v oo her M ot §1 U8 Srfehd 7 g §, 7 T8t
g g Y 1fth & 51 TR Y e 78, a8 Yar 9 &) TehdT &

SubQuestion No : 17
IITDE & TR 7% ek HawAT T VIR gRgef W T wenrg uer 82

X 1. oResi B TERIER o ) T g

X 2. el st meeit & e e Ry o &
3. 7 1 7 g @ s e o R 6 a8
K4.a§—@%mﬂ‘é}7$ﬁaﬂaﬂﬁmﬁ@qm?%%

Question ID : 9767558923

Q.18

Ans

Comprehension:

12 oy & eriar & @ 5 U Y T §1 39 erier ot eHydeh Ue SR IR fadhed § € Uik U
gaTH WA |

T e & I & g dffe aramaror 7 fagft Ush Fdw gl ge & 7@ § Sred R
Txas ™ # U fasmat Y AR 81 TS & ST I <h arel, fa, STRTy, rerd 3R svaf S " Y gad
Ui i SR AR 9 36 &1 Sicid @g a1 v § s T qrasi@ 3 ot ekt it Achet &t o <t
&1 SMYMhdT & T IR S o exama ST 3T &, AT 1 6T &, TG URART Siia Jedl a1 o a1 o Rear
T8 8, 3 I § oft A ¥ &1 At Y STt Tt H TgTeTen oTt o [ shet el STg gRaRfE & A
FoH G YRGAT, STHAT 3R TR HeAT ATE &, ITehT ST &l Jifereh &1 St 3 8, 98 I gl &
HehdT| THTST Sl FAG TAT T T e BTt THIST G T &1 TS T Ao & 718 & foh gae iR
Ty S arer st gat € IR difeat ge a1y Sifd aR e 3@ §1 Ao I &1 81 Ry of gast
R feRaTy SR GG S11 3@ TR iR et R oot e e ot €1 U shrferd 7 g &, 7 Tt
g T AT Afth & 3991 TR <7t 19 781, a8 Gex hd 81 Fepa 8l

SubQuestion No : 18
&l W feare Sira aret gi-as hrd Rl o1 T UMTa gl 38T 87

X1 wof v R g

W 2. 7 0 R v rgd e s B g
X 3. o o

K 4. 7E e o AR e

Question ID : 9767558924




Q.19

Ans

Comprehension:

2 feg 73 TTeriRT & g 5 U Ry T €1 39 TRl eHgd e Ue SR IR et # § Udeh Ul
FaTH WA |

T Faar Fr srfifa & 77 afYe aramaror 3 f:f st s @ et ge & 7@t § e aro
&M F Y fATTIT AR g T8 & ST IVYh areT, {89, STuRTe, derd SR S5t S A1ea d gad
Ui i SR AR T 36 & 3Tdd @g a1 v § s T grasi@ 3 off It +fiSt Aehet &t o <t
&1 SmYIeRdT & A TR ST $E Ramar 511 31 &, AR ST 36T 8, ITH 9IRS Sita+ geat et gx ot off Rear
TE 8, 3 T § oft il ¥ &1 i Tt St T H Ig-1ceh T[0Tt o [ e hl STE gRek & A
JoeR GO URGAT, STHAT 3R ARSI SeAT ATl &, ST WA 8l ATl 51 ST 399 &, T8 I 6l o
GerdT| THTST 3 AT S T T 1 g1 At THIST G FTTT 81| TS g Hote! 8t T8 & foh qras )
Ty ST arer sl geal © IR Uifeat geh a1y i TR e 3@ 81 Ao I g1 Bie Ry of gras
R fewaTy SR GATY o1 T8 TR SR et v oo e draehm ot €1 U9 dhrferd 7 g §, 7 Tt
g g Y 1fek & 31 TR Y 1 78, a8 Yo 9 &) TehdT &

SubQuestion No : 19

T IJTAT, I I Iugsh ofiefam-
25 1. R o wRER

o 2. R gzast ) R fte
X 3. AR el Y geRTe i

25 4. 3Tt o1 arefrarRoT

Question ID : 9767558926

Q.20

Ans

Comprehension:

12 Ry M eriar & @6 5 U oW M €1 39 Merier ot ey R Ue SR IR fadhed § O Uik U
gataH IW A |

s egar Y srffifY & 7Y afYe arararor A s goft faer an gelt ge & =i & e sror

e # U fasmat Y +RAR 81 TS § ST I <h arerl, fe, STRTy, rerd Sk $vaf S " Y gad
ygfat Y SR A T 38 &1 STdd @ ol fawa s ety qresi™ 3 oft 39 i€t anet &t o ot
&1 STYFrehdT & T WR ST g e ST 3T 8, AT 11 31 6, I TR Stias Jeal o g it o Rear
T8 &, 3 I § oft A ¥ &1 A Y it T H TgTeTen o o [ shet el STg gRaRfE & A
TSR P HREHT, ST 3R FARSH AT A8 &, IThT A & Hifeleh g1 STt 39 8, I8 I T8l 8t
HendT| THTST & AT S T T 1 g df THTST /G ST 61 | TS I8 Hole 81 718 ¢ foh gasi )
Ty S arer srscfier gat @ IR ifgat ge a1y oifed aR e 3@ §1 e ama &1 81 Ry of aash
TR @MY 3R GATY S1 3¢ TR SR Jf1sT 0R S0+t ek aeh ot 61 B8 Shiishd F 19 §, 7 THTST ht
g T & 1f<h § 1 TR Y e =78, a8 Yo 9 81 FehdT &l

SubQuestion No : 20
sref-fifer & =g AfYer arararor & wiror dyof ge ford w82

X 1. e R

W 2. s gsht s e
75 3. @R aegeit A Frav
X 4. Rt
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